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What’s the index of the first leaf node?

Remember that
.node N is a leaf node iff

4N + 1 > n_nodes, so
4N > n_nodes - 1

Dividing by 4, we obtain
n_nodes — 1

2
4

n_nodes — 1
4

The smallest such N is the first leaf node, L.

N2>

Since L is an integer, we round up,
obut integer arithmetic in C
rounds toward zero,

°s0 we obtain:

-

4 4 4

n_nodes — 1] _ ln_nodes -1+ 3] _ ln_nodes +2]
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int32 t first leaf;
int32 t i;

for (i = 0; first leaf > i; i++) {
fprintf (out, "%d %d %d\n",
p->node[i] .x,
p->node[i] .y left,
p->node[i] .y_right);

int32 t first leaf;
int32 t i;

first leaf = (p->n nodes +/2) / 4;

fprintf (
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